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HCl 1.0x40.0=40.0 m mol

HBr 1.0x60.0 =60.0 m mol

NaOH 0.50x100.0=50.0 m mol

?fif[_"fi'l_: *E’??ﬁffzf‘éé  SRPEFREE 200 mL - GHEIPYHT F) 50.0mmol

.7 50.0mmol 50.0 mmol 1000 mL
@ [H]= - x
200.0 mL 200.0 mL 1L
m mol

=250.0 =0.250 mol/ L

() pH=—log[H" |=-10g0.25

_ —Iog% — —(~0.60) = 0.60
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@ 1, + 120H" — 210, + 6H,0 + 10e”
® 1, + 26 -2

5x(2)+(1) 61, + 120H" — 10" +210, +6H,0
() 3l, + 60H" — 51" + 10, + 3H,0
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@F 1 P& HIRRLNG 2 LY L™ - 7Rl Cul = (5 2 53)

1) 2C0"w + 4 @ — 2Culo + D

©Lew + 2505 @ —> S0 @ + 20 @

@ FIOOF ! » Cu™HI S0 mole B/l » ') Cu™V mole B3
0.1x29.4x10°x 10 =2.94 x 10* (mole) * 2.94 x 107 x 159.5 = 4.69 (g)
549 - 469=080(g) V7~

() n(CuSOs) : n(H:0) =2.94:107 : (0.80/18) =1 : 1.51
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(2) Me2CHCH.CHOHCH: + #[“Z¥[J[' KMnO« f5 CrOs py¥ {1 £ RIpVEH]
(b) Me:CHCH:COCI + (CHs):CuLi (F‘l CHsL1 + CuI)Ff‘}ﬁ &) F’—]{%'El% i
(¢) Me:CHCH.COOH + 2CHsLi Ff‘/ﬂ &) ﬁfﬁ'ﬁm i
(d) MeCH=CHCOCH: + (CHs}CuLi  (f5 CHiLi + Cul % CH:MgX+ Cul) F5H P4/ RIp0



